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for(intal = 0; al < 2; al++)
for(int a2 = 0; a2 < 2; a2++)
for(int a3 = 0; a3 < 2; a3++)
{
for(int b1 = 0; bl < 2; b1++)
for(int b2 = 0; b2 < 2; b2++)
for(int b3 = 0; b3 < 2; b3++)
{
for(int cl = 0; cl < 2; cl1++)
for(int c2 = 0; c2 < 2; c2++)
for(int c3 = 0; c3 < 2; c3++)
{
}
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public void moveScrew(int pos)
{
bMoving = true;
int value = pos - tEngine.screwPos;
switch(value)
{
case -2:
tEngine.keyPressed(Canvas.KEY_LEFT);
tEngine.keyPressed(Canvas.KEY_LEFT);
break;
case -1:
tEngine.keyPressed(Canvas.KEY_LEFT);
break;
case O:
break;
case 1:
tEngine.keyPressed(Canvas.KEY_RIGHT);

break;




case 2:
tEngine.keyPressed(Canvas.KEY_RIGHT);
tEngine.keyPressed(Canvas.KEY_RIGHT);

break;

// 640
//110
//100
//000
case 640:
switch(torusAling)
{
case O:
moveScrew(0);
break;
case 1:
tEngine.keyPressed(Canvas.KEY_DOWN);
tEngine.keyPressed(Canvas.KEY_DOWN);
break;
case 2:
tEngine.keyPressed(Canvas.KEY_RIGHT);
tEngine.keyPressed(Canvas.KEY_RIGHT);
break;
case 3:
tEngine.keyPressed(Canvas.KEY_UP);
tEngine.keyPressed(Canvas.KEY_UP);
break;
case 4:
tEngine.keyPressed(Canvas.KEY_LEFT);
tEngine.keyPressed(Canvas.KEY_DOWN);
break;
case 5:
tEngine.keyPressed(Canvas.KEY_LEFT);
tEngine.keyPressed(Canvas.KEY_UP);




bMoving = false;

break;
}
break;
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